

$$a_n = \frac{1}{r} \cdot \frac{1}{r} \cdot \frac{1}{r} \cdot \frac{1}{r} \cdot \frac{1}{r}$$

$$q = r$$

$$a_{10} = a_1 q^9$$

$$\frac{1}{r} \cdot \frac{1}{r} \cdot \frac{1}{r} \cdot \frac{1}{r} \cdot \frac{1}{r} = \frac{1}{r^5} = \frac{1}{32}$$

$$\frac{a_1 q^9}{a_1 q^0} = q^9 \quad (1)$$

$$a_5 = \frac{1}{r} r^0 = \frac{1}{r}$$

$$\sqrt{r^0 \cdot r^0 \cdot r^0} = r^0 = 1$$

$$a_{10} = \frac{1}{r} r^9 = \frac{1}{r}$$

$$\frac{1}{r} = \frac{1}{32}$$

$$r = 32$$

$$r^5 = \frac{1}{32}$$

$$a_5 = 1$$

$$a_1 = r^4$$

$$\frac{a_1}{a_5} = q^4$$

$$\frac{r^4}{1} = 1$$

$$q = r$$

$$a_{10} = a_5 \cdot q^5$$

$$1 \times 32 = 32$$

$$a_1 \times q^4 = r^4$$

$$(a_1 \times q^4)^4 = r^4$$

$$a_1 \times q^4 = r$$

$$a_1 = r$$

$$a_1 \times a_5 = a_1 \times q^4$$

$$(a_1 \times q^4)^4 = r^4 = 1$$

$$r^4 \times r^4 = r^8 \times r^8$$

$$r^4 \times a = \frac{r^4}{r^4}$$

$$b + a = 0$$

$$\frac{b+a}{r} = \frac{0}{r} = 0$$

$$a_p = 1 - r$$

$$a_y = r$$

$$a_{11} = x + 1$$

$$a_p \times a_{11} = a_y^r$$

$$(1-r)(1+r) = r^r$$

$$1 - r^r = r^r$$

$$1 = 2r^r$$

$$\frac{1}{r} = x \quad x = \pm \sqrt{\frac{1}{r}} \Rightarrow$$

$$\pm \sqrt{\frac{1}{r}}$$

$$-\sqrt{\frac{1}{r}}$$

$$\begin{aligned} a_1 + a_r &= r\Lambda & a_1 + a_1 q^r &= r\Lambda \\ r a_1 &= r\Lambda & q^{-r} & \Leftarrow a_1 (1 + q^r) = r\Lambda \\ \boxed{a_1 = \Lambda} & & \boxed{a_r = r\Lambda} & \\ a_r + a_{1/r} &= 1/r & a_1 q^1 + a_1 q^r &= 1/r \\ \boxed{a_r = r^{-1}} & & \boxed{a_{1/r} = r} & & a_1 q^1 (1 + q) &= 1/r \end{aligned}$$

$$\Delta = b^2 - 4ac$$

$$\begin{aligned} a_1 + a_1 q + a_1 q^r &= 1^w & \frac{a_1}{q}, \frac{a_r}{q^r}, \frac{a_1}{1} & \quad r = \frac{1}{w} \\ a_1 (1 + q + q^r) &= 1^w & a_1 + a_1 q^r &= 1_0 \\ a_1 \times a_1 q \times a_1 q^r &= r^w & \frac{r}{q} a_1 (1 + q^r) &= 1_0 \\ a_1^w \times q^r &= r^w & \underline{a_1 \times q} = r^w & \quad \underline{a_r} = r^w \end{aligned}$$

$$\alpha_1 = 1 \quad \alpha_r = r \quad \alpha_r = r \quad \leq r = r \quad \mu_1$$

$$b^r - r a c$$

$$100 - \frac{r}{r} (r) (r) = 91$$

$$q = \frac{1}{r}$$

$$q = r$$

$$\frac{-b \pm \sqrt{b^2 - 4ac}}{2a} = \frac{10 \pm 1}{2}$$

$$+ 10q = 10$$

$$r + r q^r - 10q = 0$$

$$Q_n = 1, 9, 11,$$

$$Z_{10} = a \frac{(q^{10} - 1)}{q - 1} = \cancel{a} \left(\frac{\cancel{q^{10}} - 1}{\cancel{q} - 1} \right) \Rightarrow q^{10} - 1 \Rightarrow \omega q_{0.141}$$

$$S_{10} = (a_1 \times a_n)^n \Rightarrow (r \times \underbrace{a_{10}}_{r \times r^9})^{\omega} \Rightarrow (r^r \times r^9)^{\omega} = \boxed{r^{10} \times r^{9\omega}}$$

$$b_n = a_{n+1} - a_n$$

$$b_n = aq^n - aq^{n-1}$$

$$b_n = aq^{n-1}(q-1)$$

$$\frac{b_{n+1}}{b_n} = \frac{a^n(a-1)}{a^{n-1}(a-1)}$$

$$b_{n+1} = a_{n+r} - a_{n+1}$$

$$b_{n+1} = aq^{n+1} - a_1q$$

$$b_{n+1} = aq^n \quad (q \neq 1)$$

$$\frac{b_{n+1}}{b_n q'} = \frac{q^n}{q^{n-1} q} \rightarrow q^n \cdot \frac{1}{q^n} = 1$$

$$S_n = a_1 + (a_1 + d) + (a_1 + 2d) + \dots + (a_1 + (n-1)d)$$

$$S_n = (a_1 + a_n) \cdot \frac{n}{2} = \frac{n(a_1 + a_n)}{2}$$

$$\underline{S_n} = \frac{n(a_1 + a_n)}{2} = \frac{n}{2}(ra_1 + (n-1)d)$$

$$S_n = a + a_1q + a_1q^2 + \dots + a_1q^{n-1}$$

$$S_n q = aq + aq^r + aq^w + \dots + aq^n$$

$$S_n q - S_n = a q^n - a \quad S_n(q-1) = a(q^n - 1) \Rightarrow S_n = \frac{a(q^n - 1)}{q-1}$$